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Date:

Time:

Venue:

9th Council Meeting Minutes

December 5, 2012 (Wednesday)

7:30 p.m.

Present: Officers:

Derek Zen — President (DZ)
Thomas Ng — Vice-President (TN)
Pearlie Chan — Secretary (PC)
Christopher Leung — Treasurer (CL)

Council members:

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLN, HK

Chan Yiu (CY)

Charlie Lee (XL)

John Tsang (JT)

KF Mak (KF)

Tony Lau (TL)

WK Lai (WK)

Apologizes:

Council members:

CC Wong (CC)

Leo Cheung (LC)

Item Content When | Action
1 |Adopt minutes of last meeting.
2 |Follow up matters raised in last meeting (by minutes order):

a) DZ will send email to all HKCBA members to remind them DZ
behave and have proper table manner at bridge table. It will be
sent along with the President’s report at time of AGM next year.

b) CL will follow up on the hotel rate for Triangular Interport. Rate CL,RH
will only be available around January 2013. The event will either
be held on August 1 or August 8 subject to rate and availability.
RH to provide detail schedule for the Celebrity event in the next
meeting.

c¢) LC to follow up with Mr. Tsang Tak Shing (senior official of LC

LCSD) regarding sponsorship for APBF 2013
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d) Kelvin Yim and Jerome Cheung were subsidized by HKCBA to
join the TD seminar in Bali. They have to repay all money owe to
HKCBA before they can receive any subsidy.

e) LC to advise on the possible venue for HKCBA tournaments.

Financial Affairs:

The latest bank balance is around HKD584,000.

Internal Affairs:

2013 APBF Trial: Registration as of now:

Open: 8 teams, Senior: 1 team, Ladies: 0 team

Reminder that all participants of the trial have to sign the consent form.
DZ will check with Anthony Ching if it is required for each pair in the

team to play a certain % of boards.

External Affairs:

Bangkok Bridge Club would like to buy 500 decks of playing cards (at
HKD7/deck) and borrow 1 dealing machine from HKCBA for their
Bridge Festival in Jan 2013. CC to follow up with Esther on the
arrangement and pass all the items to DZ to give to Esther when she

comes to Hong Kong in Jan.

Wing Lung Pairs: Finished on Dec 1. DZ will follow up with Wing Lung
to see if they can rent their venue for HKCBA bridge tournaments (their
venue should be available for use on Sat afternoon but TBC for

weekdays)

A.0.B.

Kelvin Yim owe HKCBA a lot of money (mostly because he did not bank
in the money received from tournaments when he was the tournament

director). TN will report more details in the next council meeting.
Youth Team: Recruited 21 youths for the new terms which include 6

female youth players. Youth Team Committee members are: KF, WK, JT
and Baron Ng. KF to provide budget for youth team in the next meeting.

The 10th council meeting will be held on January 2, 2013 (Wednesday).

LC

Dz

CC

TN

KF




Date:

Time:

Venue:

10th Council Meeting Minutes

January 2, 2012 (Wednesday)

7:30 p.m.

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLN, HK

Present: Officers:

Derek Zen — President (DZ)
Pearlie Chan — Secretary (PC)
Christopher Leung — Treasurer (CL)

Council members:
CC Wong (CC)
Chan Yiu (CY)
Charlie Lee (XL)
John Tsang (JT)
Tony Lau (TL)
WK Lai (WK)

Apologizes:

Officers:
Thomas Ng — Vice-President (TN)

Council members:
KF Mak (KF)
Leo Cheung (LC)

Item Content When | Action
1 |Adopt minutes of last meeting.
2 |Follow up matters raised in last meeting (by minutes order):
f) DZ will send email to all HKCBA members to remind them DZ
behave and have proper table manner at bridge table. It will be
sent along with the President’s report at time of AGM next year.
g) CL will follow up on the hotel rate for Triangular Interport. Rate CL,RH

will only be available around January 2013. The event will either
be held on August 1 or August 8 subject to rate and availability.
RH to provide detail schedule for the Celebrity event in the next
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meeting.

h) LC to follow up with Mr. Tsang Tak Shing (senior official of
LCSD) regarding sponsorship for APBF 2013. LC reported that
Government will only grant HKD200K sponsorship for APBF
2013, therefore we need to find other sponsors. One of the
possible sponsor could be Wing Lung Bank, LC will follow up.

1) LC to advise on the possible venue for HKCBA tournaments.

j) 2013 APBF Trial: Total 15 Open Teams, 2 Ladies Teams and 3
Senior Teams registered. PC to prepare the Declaration form for
players to sign and to follow up with Senior Teams to provide
names of their NPC. PC confirmed with Anthony Ching it is not
required for each pair in a team to play a certain % of boards in
the trial.

k) CC reported that Kelvin Yim didn’t return any registration form
and fees collected for last bridge year, he was the director for
approximately 22 HKCBA tournaments which worth approx
HKD24,400, plus Open League pre-registration fee of
HKD13,000 and Open League tournament fee of HKD9300. So
the total amount owe to HKCBA is approx HKD46,700, not
including the new bridge year yet. XL will be responsible for
collecting the registration fee for the coming Open Team Trial to
ensure that the money will be bank in to HKCBA account
promptly.

1) WK presented the youth team budget to Council, except the
HKD30,000 budget for CMSG 2013 (as there won’t be any
CMSG this year) and any non-cash sponsor for Intercity (there
won’t be any intercity in 2013), council approved the rest of the

budget in total sum of HKD91,000.

Financial Affairs:

The latest bank balance is around HKD424,000.

Internal Affairs:

Duplicate Machine: after careful discussion, Council has agreed to give
the 3 duplicate machines to the following 3 parties: 1) BridgeHouse, 2)
Hong Kong Post-Secondary Union of Bridge (Condition: if SSBL or other
schools or universities need to use the machine they should borrow to
them. XL to inform the schools and universities on the arrangement) and
3) Arthur Lau. There won’t be any maintenance or technical support

provided once the duplicate machines are given out. PC will inform all

applicants result of their application and inform them to reach out to

LC

LC

PC

XL

PC, XL
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Arthur Lau should they need to use the duplicate machine.

Senior Teams registration for APBF 2013: Since there were only 3 senior
teams registered there is no need to have a selection trial. The 3 teams are
(by registration order): 1) Edmund Tse, Aaron Cheng, Peter Yeung, Fu
Kwan, Peter Poon and Roger Ling. 2) Vincent Li, Ashley Lung, KL Fung,
Cecil Chan, CB Chiu and Alex Leigh. 3) Seneca Kwan, Peter Yum, Wong
Wing Kong, York Liao, DM Chiu and Louis Shen. Council approved their
representation in the coming APBF 2013.

Ladies Team APBEF trial 2013: the trial will be held on March 16 and 17

and the 2 Ladies team will share the cost of venue and director fee etc.

External Affairs:

Nil

A.O.B.

AGM Notice: PC to issue notice by end of January. WK to update the
special voting member list and circulate by mid January. PC will then

attach the special voting member list to the notice.

The 11th council meeting will be held on February 6, 2013 (Wednesday).

PC, WK




Date :

Time:

Venue:

11th Council Meeting Minutes

February 6, 2013 (Wednesday)

7:30 p.m.

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLN, HK

Present: Officers:
Derek Zen — President (DZ)
Pearlie Chan — Secretary (PC)

Christopher Leung — Treasurer (CL)

Council members:
CC Wong (CC)
Chan Yiu (CY)
John Tsang (JT)
KF Mak (KF)
Leo Cheung (LC)
Tony Lau (TL)
WK Lai (WK)

Apologizes:

Officers:

Thomas Ng — Vice-President (TN)

Council members:
Charlie Lee (XL)

Item Content When | Action
1 |Adopt minutes of last meeting.
2 |Follow up matters raised in last meeting (by minutes order):
m) Triangular Interport will be held on August 1 to 4, 2013 at Regal RH
Kowloon Hotel. RH to provide detail schedule for the Celebrity
event in the next meeting.
n) LC advised that Wing Lung Bank is interested to sponsor our LC
celebrity event, will follow up with them.
0) LC to advise on the possible venue for HKCBA tournaments. LC
p) Kelvin Yim returned HKD45,000 tournament fee to HKCBA. CC CC

to verify our record to make sure he has returned all money owe

to HKCBA and provide the details to CL within a week for the

financial report.
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Financial Affairs:

The latest bank balance is around HKD462,000.

Internal Affairs:

AGM: DZ to call the special voting members, WK to call the ordinary
members and KF to call the youth members to join AGM. PC to add one
item to the agenda to amend the M&A. LC to provide the latest version of|
M&A to TL for posting to HKCBA website. TN and CY will retired from
council from the new term onwards, we would like to thank both of them

for contributing during the past years.

External Affairs:

APBF update: The Chairman of WBF will visit Hong Kong during the
event.

There is a need to find sponsor for an additional HKD150K expenses.

Triangular Interport: Will be held on August 1 to 4, 2013 at Regal
Kowloon Hotel. Celebrity event will be held on August 1 evening, August
2 & 3 will be the team event, August 3 afternoon will start the Pairs
Qualifying and August 4 afternoon will be the Pairs Final. PC to inform
Macau and Guangzhou once the schedule has been provided by RH, and
TC to post the schedule on the web. Dates for Interport Trial will be

decided in the next meeting.

World Youth Bridge Open Championships: TL to post the details on
HKCBA website.

Youth Trial: Registration fee per team would be HKD500. The trial will
be held together with the APBF Open Team Trial on March 29 to 31.

Ist Bangkok Bridge Festival 2013: Hong Kong VICO (Members: Abby
Chiu, Alan Sze, KY Tam and Percy Wong) ranked 6/34 and Hong Kong
BTNPC (Members: Baron Ng, Charmian Koo, Pearlie Chan and Tony
Lau) ranked 12/34 in the qualifying rounds.

A.O.B.

RH suggested to organize a “Principals’ Cup” and may need HKCBA
director(s) to help.

Date for the next meeting will be decided by the new council.

DZ,WK,
KF, PC,
LC, TL

RH, PC,
TL

TL
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2013 HK Trial A8.3|f)
Thoughts after the 2013 HK Trial for
APBF

LH2INTHTE, EA5K2ES D, WMERAELE 10 , ZmAR.
| only participated in the preliminary trial. 15 teams took part and our team came 10™.
The result was disappointing.

IS E s R | wrote about a few boards here.
(1) Round 14 Board 30

#30 aAK7

E / None v AK
¢+1075
«AQJ72

41063
vJ10432
¢+ AQ9
K5

PfMiE BT Leo ARJEEAT 6NT, AIEGRMER (W RMGEsELr, H 14 5
A 2 51ZMED, R« Mo K AZRE 4—2, EH1HeQ, OF 1235
TR, E5le, BFed, HeA, vK, «KEIHTF, F5HvJ, ATE, HFE3
gkv, vQ86, Hike9, %4 ey, TR 1Ke, HEHKVQET, [MaQ, BfHER
N Zae 1T 438, PFTLLER B o K A REKAT. 26 6 HUIEZK A, 2 2 Ha:

At our table, our opponent Leo sat North and he became the declarer of 6NT. The
contract was a reasonable one. (It would be even better if South was the declarer.)
However, only 2 out of 14 tables reached this contract. If the distribution of & andw in
East and West were not worse than 4—2, gave a vQ and 12 tricks would be available.

The play was simple. the 1°' lead was a «, Dummy & 5,declarer #J, then vA, v K,
«K to Dummy.. Played vJ attrick 5. | sat West and had only 3 vs, ¥Q86, singleton
£9. Atthe 4™ &, ldiscarded a &. Attrick 5, | gained entry with ¥Q and returned the
4Q. The declarer had only 4 «s at present and so he had to find the K in order to
make the contract. At trick 6, Declarer played aA and then cashed 2 «s:
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#30 a K7

E / None v —
¢ 107
&7

& 10
vJ2
¢+ AQ
o —

IR LA, THE aQdxxx, v Q86, ¢ ?7xxx, % 9
It is easy to know that West’'s hand was aQJxxx, ¥ Q86, ¢ ?xxx, & 9.

U VI o Ko HE o A, fiw:

If you consider that West had the ¢ K, you would play the ¢ A and then cashed the vs:

#30 a K7
E / None v —
. —
» —

& 10
v —
¢+ Q
* —

VOB, AHURAR 2 3, A WRRAHE oK, 5 HLARA ko
West will be squeezed and North can win the last 2 tricks. If you consider that East
has the ¢K, you can simply finesse.

PO 45ke, WA 3ike, FEH oK M E K2 HEIAEFAL, AERMAE R, &5
RVGEE: aQIxxx » Q86 ¢ Kxxx 9 n[geerfiny 24, iR ARG e K, KT,

West had 4 ¢s and East had 3 ¢s, who had the greater probability to hold the « K?
The declarer was very meticulous. He inspected our convention card and discovered
that if West had aQJxxx v Q86 ¢ Kxxx 9, he might open 24 He considered that
West did not have the ¢K and he was successful, .

11



#30 a AK7
E / None v AK

¢ 1075

«AQJ72
4aQJ982 454
vQ86 v975
+8642 ¢+ KJ3
%9 «108643

41063

vJ10432

+AQ9

% K5

A EEALANSL, FRENKS M. We have to learn his meticulous and serious spirit,

Let’s see a board played by my teammates at BBO

Board 19
#19 a K2
S/EW vAG64
¢ K43
«KQJ95

FIAEEAIY 1 o R 24, [FIFE 240 CUTRMERR, PIREH 5 oRLA Fe), MRIYAHER? JRAGERY 2NT
(AR, AR 1 K B8, A0 2NT), 3 (A 69, 3¢ GZH 45R),
38 A 455), WRIGMRL, HiFfnnyeA, Y 3e, [FFEEERE 4 55k, 30E5 EIR
AGRERRE, YEERr, IRIYE 24, FrLL 3w AErE s 4 ALY, RAGEREE G 42
&, 122 NT.

3v 1%, [ 4a, (35ke ), HEERI, BEH00Y.

Partner opened 14 and you responded 2%, partner 24 (if lower limit , he might have
5 or more ¢s), what would you bid? You cannot bid 2NT (not a minimum hand unless
your hand had a K less) . 3« (do not have 6 times), 3¢ (do not have 4 times), 34
(do not have 4 times) . Your cards are so good and so you should cuebid vA and so
bid 3v. Partner might think you have 4 times v or assume that you are not holding a
minimum hand and so you cuebid and wait. As you have bid 2%, so 3v cannot be the
4™ suit.  You cannot ascertain whether to play &, ¢ or NT.
After 3w, partner bids 4, (3times &) and confirms the trump. Cue-bidding follows as
below:

12



W N E S

Pass | 1e
Pass | 2« Pass | 24
Pass | 3w Pass | 4«
Pass | 4+ Pass | 4w
Dbl Rdl Pass | 4a
Pass | 5a Pass | ?
A.P.

Rdl £xfivA, 4ai%, URWIANT, [FIFERIEAT 3A+ K, T2 6w, FRU5ARENEE &4
& BNT 372 7%, JrLARAINY Sty .

Rdl shows vA. After4a, you bid 4NT, partner replies 3A+ K. The bidding reaches
6+ and you cannot ascertain whether the correct contract should be 6NT or 7%, and so

it is better for you to cuebid 5a.

a K2
vA64

¢+ K43
«*«KQJ95

aA984
v KJ
¢+ AQ52
w*A42

FIFERT LU 2 s, 2 8w, 34le, 58e, HAVH Y, wfLUEES AP, 1Ee

o s B 13 3

Partner can count to have 2 as, 2 vs, 3 esand 5 &s.

squeeze East and obtain the 13 trick from ¢ or &.

aQ5
vQT98753
o T7
%87

a K2
vA64

¢+ K43
«*«KQJ95

aA9814
v KJ
¢+ AQ52
w«A42

aJT763
v?2
+J986
&«T63

13

As West has vs, he can




EATE S, — WA 13 3. BIEFE, 4 3 dmkt, $E20me, 3ima, (B 3 Ha. )
Irrespective of the 1% lead, 13 tricks can be obtained, i.e., after gaining entry in hand,
Declarer can draw 3 rounds of trump, cashed 2 vs, 3 as (ruff the 3" &),

&6 5 R J¥: The last 5 cards in each hand were:

e ] 55
(not relevant)

. —
vb6
¢+ K43
%5
aJ
v —
+J986
o —
a9
v —
¢+ AQ52
o —

iER b, #3H 5. Now, North plays a « and squeezes East.

g i However, the actual bidding was:

w N E S
Pass | 1e
Pass | 2« Pass | 24
Pass | 2NT Pass | 3w
Dbl 3NT Pass | Pass
Pass

PrUAn i, Jofe B CRORE, AR LR, PR [R) A g U R G BRI Y R, PR E

15y ooy = mAcii]

So, you should examine the quality of your cards before you bid. Then you listen to
your partner’s rebid to see if it is minimum or forcing before you decide how to show

you hand.

(2) Round 10 Board 22

#22
E/EW

4 Q
vAQT75
¢+ KQ984
%Jd5

14



AT, 1 KB 4a, UR2H, YEEG? el Ay, #G RS, RHA
ABERARILR) 20 77, URFECEAGRIGRI—F, B, PRAH 2 &M, M 4NT
WFEFENY 5a, /R0 5o, fREFRZIEIRE 2 £, HBMRBL), RE#EE55T,. Overbid 76
TS AR 5 o, AT &Ry, WIZAIREM . MR L8R ), SEnY DbliRES .
TR 14 5 8 WY, 6 iR T4 4a, +620 4y, FRiBH, BAVE, BARMITHINGS
6e¢, 4 %Hﬁ%

East was vulnerable versus non-vulnerable and he opened 44 in the 1% seat. You are
South. Would you bid? Both bid or not bid have risk and benefit. You have to
assume that East and you has 20 points and your partner have half of the remaining
points. | agree to overcall 4NT as you have 2 suitors. If partner bids 5&, you bid 5e.
Though he knows you have 2 suitors but it is difficult for him to assess your strength. It
is difficult to avoid an over bid, If you bid 5 ¢, he does not know how to bid even if

he has vs. Perhaps, it is better to double 1! even you have a stronger hand.

TP 14 514 8 WML, 6 Wil 4] 44, +620 47, FRigid, AV, BAZEHTHNAS
6e, 4 KNt

In reality, 8 out of 14 tables allowed East top play 44, +620, At my table, | sat West,
At last South played the doubled contract of 6. The 4 hands were:

#22 a4
E/EW v K3

¢eT7532

«A9863
aA2 aKJT987653
vJ982 v64
* AJ ¢ 6
«KQT72 w4

4 Q

vAQT75

¢+ KQ984

*J5

i TS? BA, BN ce#imnfT. PR,
Did we win? No, our teammates at the other table also bid 6 ¢ doubled. We had a tied
board.

(3) Round 10 Board 26

SRERAEM R, AR E Ry

Even a strong team will have misunderstanding in their bidding:

15



#26 a AKT72
E/ALL vQ65
* J
«JT74

Ny The bidding:

W N E S
Pass | 1%
14 Pass | Pass | 2%
Pass ? Pass | Pass
Pass

PRI AT IS, BRORIATHE S SR RO Y 24, JERZAT 6 9k, PRI

SNT H5? JE[FI o A7 15k, BN 4w, FIERERT B O, SEGEMIE 3NT, B 34,
TR56 1 i Pass i, ZECEMARKEH . B 26, Fona EAM), «BCG, GLEGE
TRER 1 4 Pass » [AHFE R A IRAT 6 SRIRL &, AT 28 540, IREIfHER?

Partner has not doubled and so you do not have the chance of a penalty-pass.
Partner bid 24 in the balancing seat and so he must have at least 6 times. Are you
willing to bid 3NT and gamble that partner has stopper in ¢s, or will you bid 4% in order
to describe your hand more accurately. The disadvantage is that you would bypass
3NT. Or would you bid 3«? As you have passed before, it will likely become the final
contract. Would you try 2 to show you have strength in &4 and « fit? The weakness is
that as you have passed in the 1% round, partner would assume that you have a 6-time
as with better quality and let you play 2a4. How would you bid?

SEE 4 %M. Let's see the 4 hands:

#26 a AKT72
E/ALL vQ65

*J

«JT74
4 Q9854 aJ3
vKJ7 vT832
¢ A8765 ¢+ KQ92
& - «*Q62

a6

vA94

¢T43

«AK9853

BAEGHE 5. TRALTYE, WIRFEE 2 fmny DBL, Ferny 2e, LR, Jbil 2e, FE%
EIRA, #&E Pass ,

16



HrFr#EHE Andy K.O.Leung E 51K, &R T 3, ZHAMBI T Lhi) 1 @I wl ek
FORFEZMAY ) NT, G R H s 5IMP,

The best contract is 5&. | sat West, if South doubled in the ond round, | would have bid
2+ . In reality, North bid 2a, South hesitated a long time and then passed.

My new partner Andy K.O.Leung first led the K. The result was down 3. This was
our most successful defence among all the boards. However, our teammates bid the
hopeless 3NT and so we just won 5 IMPs.

(4) RNIEKHEMBSE A defence that was not too difficult
Round 10 Board 1

#1 aA87654
N/Nil vQJ2
¢ KJ
«QT
a3
v984
¢+ Q543
%*J9874

% The bidding:

W N E S

14 Pass | 1INT
Pass | 24 Pass | 2NT
Pass | Pass Pass

PHE S| aK, FTaQ#E T, HEXHA 1 5Ra9, 5 2 BUEXKMIRA A&, 5 3 ittt ¢ 7,
T ed, RHIRSR. SEARDHTI, SEXRMT, Aenlid 12 B CGERIfR 3NT),
BERAERITIRE YA, vK, oA, 2A, &K, HEXERZ LA 3 0k, REBREEAIR
29, PRMAEESI 6 M, Fhe, FReAsl, HAFLI¢Z TI8762,[FF LT o A, JEH
hIRe, WHeAEN K ke, AEHIPH R, WA eA, EAZ e, Bk
ENNE

West 1% led the aK and then #Q. Both won. The declarer had only a singleton 49. At
trick 2, both the declarer and you discarded a . At trick 3, West played the ¢7,
Dummy J, what would you play? Let us analyze the cards 1. The declarer would

17



not have more than 13 points (else he would have bid 3NT) .

The unseen high cards were vA, vK, ¢A, «Aand «K. The declarer can only have
3 of them. Which two should partner have in order that you can win 6 tricks. Let us
examine tthe ¢s, except ¢A, the unseen ¢sare T98762. If partner had the ¢A, he
should have led the smallest ¢, and led a biggest one (not a middle card) if he did not
have the ¢A. If without the ¢A, you should not return a ¢ to help the declarer to
finesse.

JTLARIRE Y o JE2 AT7, A97, AT97 =HMifthIEZ —. . W lfie sia KM, RIS
6 G ? ERET AN, MER AT e A, Wi ke Q, WREAHERK 4 e, IR AM
F, WU oA, AILIA o, R BB BRI e N ? Vs LA«

4 F

So, partner’s ¢s should be AT7, A97 orAT97. Right? If he has not got a high card in »
or %, can you win 6 tricks? In reality, East ducked. He considered that West did not
have the ¢ A and he would give the declarer 4 ¢s if he placed the «Q. However, East
had not considered that if West did not have thee¢ A, he would have not played a ¢,
why should he help the declarer to establish his ¢s? West’s safest return should be a
*.

The 4 hands were:

#1 AaA87654
N/Nil vQJ2

¢ KJ

«QT
AaKQJT2 a3
vA73 v984
¢ A97 ¢+ Q543
%53 «J9874

a9

vKT65

¢eT862

«AKG62

94 BUERIA e, C%8 3. JiRBE AT 264 F—, i 5IMP,

At trick 4, the declarer gave a v and he secured 8 tricks. Teammates played 2a at the
other table , down. W e lost 5 IMPs.

Round 11 Board 11

18



#11 aQ82

S/Nil vAJ87
¢ AK642
% K
aKJTO9
vKQ63
¢T75
w«dT

Ny The bidding:

W N E S
1e Pass | 1INT
Pass | 3NT Pass | Pass
Pass

BIRBARS, FEATAEAKRN BNT. H5led, BFLKF, HEHRI, 52 8t 2,
¢5, 9, oJ, FIfEIN[a7, 48, 49, a3 2K, FRIFIRGR? IRCIEARES LS AR,
A EM 1w, 1a, EZRA 49k %45k, BRAeQ, FRaASl, «A, £Q &
Aok (259, AHEYAINT, WH*A, CF 4, 23, aA, vA, REYE
LB 9 e P MR MEUE HE A « A 2B 57 n] RERRI AR REIE Rk AT 412>
Bro TTHKES 4 BORInle, AIRAEE, (EREIZHH o IKF, ZHA 2 5RIM, fb¥ 1 9Re, 15Re GE
&1 KE, TR, WARTIR, B Re), ZRAEEEN, KilivA, Rk
BN, #eK, A AT .

ORI, AHZE 10IMP, 2.5VP. GERUUIRET ST ), BTN 4 4.

This time, | sat South and declarer the not too hopeful 3NT. The 1% lead was the %4,
Dummy’s «K won, Declarer discarded the 3. Attrick 2, ¢ 2, ¢5, ¢9andeJ. Partner
returned the a7, a8, a9 and 3. It is you turn, what card should your return? You
have basically read Declarer’s shape. He has not responded 1+ noria and so should
have no 4 vs nor 4 as. He did not have «Q. Except the aA, he should have %A
or%Q or both of them in order to respond 1NT. If it was the«A, he would have 4 ¢s,
2 #s, aAand vA and he could easily throw in the opponent by a major card and obtain
his 9" trick. ~ So, you should assume that Declarer did not have the %A in your defence.
Perhaps, East did not analyze so meticulously. In reality, East returned a ¢ at trick 4.
It was not wrong. However, when Declarer played ¢s, he discarded 2 cards —a v and
a & (this was a big mistake. When he gained entry with a major card, he no longer had
an exit card. He should have discarded a &) . Later, unexpectedly, | played the vA,
East was afraid to be thrown in and so he discarded the vK and 3NT was made.

A card means a difference of 10 IMPs or 2.5VPs. (If this board was defended
successfully, our opponent should be among the top 4 teams in the preliminary trial) .
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#11
S/Nil

Aa764
v95
+QJS8
«A8742

4Q82
vAJ87
¢ AK642
% K

aA53
vT42
+93
«Q9653

aKJTO9
vKQ63
«T75
«JT

(5) HFHI4rHT Expert’'s analysis
s BN EIRAM L ZE M. This was a board played by our team in the competition:

E/ALL aA4
vQJT97
¢+ K654
&A3
463
vAKG632
¢+ AQ72
Q2

% The bidding:
w N E S
4 4v
4a 6v Pass | Pass
Pass

HolaK, K a2, =k, VU e, B3 9Re, HH 200me, HIHRe8, LT,

U] 4 48 -

West 1% led the aK, East discarded the 2. Declarer drew 3 rounds of trump. West did

not have vs and he discarded 3 &s.

20

Declarer then played 2 rounds of ¢s, East had
a singleton ¢8. The remaining cards were as follows.

How would you continue?



E/ALL a4
vJT
¢+ 54
A3

a6

vAb
¢ Q7
Q2

., KF 4 KM, Perhaps, you read the 4 hands:

E/ALL o A4

vQJT97

¢ K654

A3
aKQJT9875 a2
v - v854
¢JT93 + 8
4 «KJT98654

A4 63

vAKB632

¢+AQ72

«Q2

tBEF That means:

E/ALL a4

vJT

¢ 54

A3
aQJT9 . —
v- v —
o JT ¢ —
w7 «KJT9865

a6

vAb

¢ Q7

«Q2

TRABE %07, All]—5Re, MEMF. AREH e, e Wi, K2 TRMALES S 2542
Eatljﬁﬁ, AEEEINIE . AR LIRS TR AR . BEARBATIAT, A, fHe, A
B RAH e, BRI — A

You cannot play a & to West, he would return a ¢. You cannotplay a ¢, the play a v is
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also useless. Both your hands were 2542. If you played from your hand, you would
not increase your number of winning tricks. You can let the opponent to help you to
play. As it is not possible to throw in West, you have to play the &«Aandthena &
to throw in East. East can only play a « to give a ruff and discard:

E/ALL a4
vJT
¢ 5
& -

a6
vo6
¢ Q7
& -

WA ARIL S 45 AR, 18AT 2 fEfoR, A i BRI B, B> 1l

LAE o F0 & FEPURS Y, HAMGHmMseE, 2 B

That is, after you have gifted a « to East, you still have 2 losers. East plays a « to let
you to discard a loser. Now, both 4 and ¢ have to be guarded by West and the
conditions for a squeeze exist. Play 2 rounds of vs:

E/ALL a4

RARPAVIR, MR 28, TROEL. TR,

Isn’t it that West squeezed and you can obtain the last 2 tricks and make the contract?
The play is very good.
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FESE 8 JE i S hE

8" China Bridge Elite Tournament

WP ER 8 kS UC A 2012 45 11 H 16—18 HEYT, A5 10 B2, 1 9 infifs, £Fia
16 BN, BAZAT 3 2R ER N, WivLmitl, JbsfEE CERMUELEE) . FRiZEE M
B, £ BBO L EH®EN 2 B2 I LLEEMIRE,  H 12 AR5 B35 R A B

The 8" China Bridge Elite Tournament was held from 16-18 Nov 2012. 10 teams took
part. The format was round-robin with 9 rounds of 16 boards each. The top 3 teams
were Suzhou Taihu, Zhejiang Jinfang, Beijing Xinyuan (Bridge Club) . The boards that
| wrote about here were just taken from those boards broadcast at BBO. The aim is to
enable my teammates to gain more experience.

(1) AL % 10 £ Finding way to get the 10™ trick
Round 3 Board 9

#9

N/EW

a AK72 494
vK62 vAQJ95
¢+J53 ¢ A72
«*J93 %*A74

A LN The bidding at this table:

W N E S
Pass | 1« Pass
14 Pass | 2w Pass
24 Pass | 2NT Pass
3v Pass | 4w Pass
Pass | Pass

FAALIATIY RS, s (AP Y 1 e CHEARIZAT 16 7). SRESHHR AT 4w, BB G,

(BNT 2B, Bl LY, fRAT 9 I, WERFILHMAL I CIERD, RIS
F10 3, WERMIKE Q. ARG, e R RS R 2 8 A, Ry b
L AR TIE T, BE W L2 1 3. Glinrs A «10, HERIb e, 1RnTRE
WA 13 JiEtE, STIRMEL, B 3 WY, R 2 ke, dbAT 4 9Rka, 39Re, FEAE
2 ke, 6 GRA:

Both North and South had not bid. The East players of both tables opened 1%
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(thought without 16 high card points) . Finally, East declared 4v, which was quite
reasonable. (3NT was cold). The 1% lead at each table was a v, . You have 9 tricks. If
the distributions of North and South are “normal”, how would you get your 10™ trick?  If
you play from your own hand, you will in most case win with 2 Aces in the minors only.
If you allow North or South to play, you might get one more trick. For example, if
South had the «10. If either North or South plays, you may get one more trick. After
you have set the direction, the play is simple. Draw 3 rounds of trumps, ruff as twice.
North has 4 times &, 3times vs, South discarded 2 s, and the remaining 6 cards are:

#9

N/EW

o — o —
v — v —
¢J53 ¢A72
«J93 «A74

ocike, RiGeA, fiike, HIARA 4586 —77, WIFEH 3 e, MHAEHS, £
IR TG FR B &, RIS HI

Yougivea ¢, then ¢Aand give another ¢. If the winner of the 3 ¢ does not have 4
¢S, he can only return a .

IR S M o, IR TE AR

Sometimes, there was such a chance. Let’s see the 4 hands::

#9 4Q863
N/EW vT43

+ Q864

% K6
aAK72 494
vK62 vAQJ95
¢+J53 ¢ A72
«*J93 «A74

aJT5

v87

¢ KT9

«QT853

Firstlead a v to vJ. Then vA aA &K ruffa s, vK ruff another a. The 6 remaining
cards in each hand were:
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#9 o —
N/EW v —
+ Q864
% K6
v — v —
¢+J53 ¢ A72
«*J93 %*A74
. —
v —
¢+ KT9
«QT8

Kitte2, fEGmTIH 010, HeK, % 3 e VIEMET, &% 3 5ke, WMHR HIRGR
o, ERIME, EWE| 2 Me, SEBUERT.

East played the #2, no matter South played the ¢ 10 or +K, the 3™ ¢ would still be
taken by south. South could only return a card out of his 3 remaining «s. No matter
which one, if the declarer played correctly, he would win 2 «s and make his contract.

GRAEI o 2 QT64, Rl 2 3 e, T AR, HAERA KT, MU/ERGEE:, #1R
RIS, WA IRAEE B ? ST R 4w SR 2012 IR & HUP: (Shan
Sheng ), 5 SZR L 4v (MPERFE/NE), E5IH2 e, HE 2 48, JE50EH 1
e, HHTANERT

If North’s ¢s are «QT64, then the declarer has to lose 3 ¢s and will fail. Now, South
has ¢KT9, and it gives you a chance as the cards lie. It depends on whether you can
think in this way. The declarer who made 4v was a member of 2012 National Team,
Shan Sheng. The East at the other table also declared 4v (the bids were similar) .

The 1% lead was also a v,. However, the declarer gave a # at trick 2 and could not
make the contract.

(2) Round 3 Board 10

#10 a9

E/ALL vAB843
¢ A2
«AT8652

aKJT72
vKT2
¢+ K3
«Q43
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% The bidding:

W N E S
Pass | 1a
Pass 2% Pass | 2a

Pass 3v Pass | 3NT
Pass Pass | Pass

Holed, ERIMEEIT &, WRRFSEM, A2Hrari G BEas i, araesis
A BITAESHTIE R, 25 1 386K, 2 2 i1 «3, HIUH«9 K, WTjk+10,
JEy. MBIV S, EEU et 3 aREK 4 5%, AT Y (e AR EAR. (BEHRAE G5
SRE, AWHMEAT 5 5%, ARS8, PRGBS e AR OR ) . 53 S b 39T
SNT, 13, HHe7, oK, ¢6, 2 EF 25 iH«A, #IRT 2.5 4 T E:

First lead was the ¢4. The success depended on playing the «s correctly. If you just
read the Dummy'’s cards and do not analyze the 1% lead, you may have to pay a price.
When the National player SHI Zhengjun played this board, he won with the ¢ K from his
hand and played %3 at trick 2, East played the £9, Dummy %10, and succeeded.
His reason was: the 1% lead of the ¢4 should be from 3 or 4 cards. He judged that
West would not have a singleton . (Maybe West had not led from a 5-card suit.
Even he had a 5-card suit, he might not want to help the declarer and so chose a
passive lead — it also depends on your judgement). At the other table, North declared
3NT, Eastlead the ¢7, followed by the ¢K, ¢6 ande2. Declare played the A at trick
2 and the contract went down 2 as the 4 hands were:

#10 a9
E/ALL vA843

¢ A2

«AT8652
aA8 4Q6543
vQ765 vJ9
+J964 ¢ QT875
«KJ9 &7

aKJT72

vKT2

¢+ K3

«*Q43

i AT AR 1 SRRy, 2 AR T REMRERS, D MO AR . BRIVE TS, MR R
WL B SIN R, REARMOERT R Bushl, B, ST« A BIRIER, WRIREE
Bl et 4 %, WA BT 5 Rl (WA 5 9RE), JREE « L BaRMBEE R

| hope that teammates would think about the opponents’ hands when seeing the 1°
lead and plan the line of play accordingly. What | mean is that one should plan the
declarer’s play based on the bidding and the 1%'lead. For this board, based on the
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1St 1St

texture of the suit, the 1° play of the «A was quite normal. If you consider that the
lead was from 4 times ¢ and there was no lead from a 5-card major (if without a
5-carder suit), then the chance of having a singleton & was rare.

(3) TATHTEEMIBE T, NifEh, B~y i Ceik REIITIE T, URAT R, a4
HEIRSE ARz IR, fEm T, e gkt

The chance for the declarer to play wrong is rarer. However, in the following board,
the defenders have already missed their chance to defeat the contract but the
declarer still could not make his contract. Though | consider that this board should
not have been lost, however, this also happened among the experts.

Round 3 Board 15

#15

S/NS

aKT72 aA95
vJ6 vA2

e K74 ¢+ AQJ52
«KQT9 ~J64

Ny The bidding;

W N E S

2v

Pass 3v Dbl Pass
44 Pass | Pass | Pass

Se¢ Emfl, 4atLEANER, INT SR AGEN. Hyle3, IRMEAEHIRIE? HF
¢Q, HaA, FraK, Hikad, REAKTGaZE 33 /32

WR At 33, RBIAEIE A s, C&G 108, (Hifs, v, %1380, HEXKSE 4
b K, mEl. BRSO, RS9, wmRILH 4 M, (A 4 9=
BNy HEJEAEHRe, RO T . AR o2 33 IS TE .

5 was the best contract, 4a was quite a good contract while 3NT was hopeless. The
1% lead was the ¢3. Do you think it was a singleton? Dummy ¢Q, played aA,
then aK, South dropped the aJ. Would you try the as of East and West to be 3-3?
If the as are 3-3, you gave a & and you would have 10 tricks already (you just lost a
4, av, anda ). However, the declarer played the &K at trick 4 and won. This was
a chance. You mustdraw trump. If North has 4 trumps (the chance of South having
4 was rare). So long North was not holding a singleton ¢, you have already made
your contract and you have catered for the situation of 3-3.
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#15

S/NS

aT7 a9
vJ6 vA2

¢ K7 ¢AJ5K2
«QT9 %J6

AR, AT 3 e, 1 v 1 s, 586, WHeBITHRIZ, SRUIIRAABIT AR,
R Rl lnds 4 SRR, T LARRE 2 e AR AT EE 4 diw Bk, 5% 2 1,
138w, 138s, MARATKS, HWEEaZ 33 e . it 4 ke, JEZET]v.
TP 5 M «Q, dbeA, (BMIRA 4 g, AT AL fAM. dbihe, 1K
vABEW, Wb 4 dRag CEATAR T, BAERARIILK a02 33, EAEITH. Frid,
UARET I, JERER AR e, W ZHER . AR EET G B0 3 (2 2 #lv).

After drawing trumps, you have 3 as, 1 v,1 &« and 5 ¢s. If you play a ¢ to hand and

get ruffed, you cannot make originally. It is because if a defender has 4 trumps, he can
duck 2 rounds of s and you cannot use the 3" & to discard a v loser. You still had to
lose 2 as, 1 v and 1 «. If you do not draw trumps, you have given up the chance of
as being 3-3. Also, if North has 4 as, he should have led a v.

In reality ,the declarer played the «Q at trick 5, North £A, (it was because he did not
have 4 trumps and so he could not duck) , South discarded a card. North played a »
and knocked out your vA. if North had 4 as, you could not make your contract. Now,
only if the as North and South were 33, you could still make the contract. So, if you
want to make, here is the last chance. You must draw trumps. The result might be
make or down 3 (lose 2 more vs) .

L

ORI R, Had, B, 12vK, e, Jbi#f, T—.

\;

In reality, the declarer gave up this chance and played the «J, South ruffed, cashed
the vK, and played a ¢, North ruffed, down 1.

#15 4843
S/NS v9754

¢ 3

«A7532
aKT72 aA95
vJb6 vA2
e K74 ¢+ AQJ52
«KQT9 ~J64

aQJ6

vKQT83

¢+T986

%8
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(4) Round 6 Board 14

#14 a AK653
E / Nil v
¢ A3
*«AB6542

aQT87
vAQT83
.-
«KT93

— 5N The bidding at one table:

W N E S
5 Dbl
Pass | 7a Pass | Pass
Pass

WU R B 5 ORI, 51 eQ, # 2 Himiky, RS, HVISH 2 gk, 28 4 e g
*, ERESABRAREK, EREREAS, MIEIE 2380 K, RUGZAEEE] 4 e,
ARERET L 3 WatioR. AEE, HEFE 3 ke, IRAEFFE] 4 Helg? HIK w2072 wKxx
Bwoxx. WIERREIEIET, AT, HE 4 AT DR T

B, b2 4 i eA, e, HaBlaK, SHERA S, e, BRROFTIAERT .
WERES 4 Bith e, MEEARBEEAET, Ry

& Jx v?xx ¢ QJT98642 & --

Ny Selkiffe fEeKxx EHIEw Oxx.. FEHEAT . (e A ZIBATEL, 7025 A
(FaRy 2 H9kndd, ARy, T LeQ, F3, HKEAMITH 7o

The bidding was really brave and aggressive. First lead was the ¢Q. Drew 2 rounds
of trumps, very lucky, both East and West had 2 trumps each. A & must be played at
trick 4 to see if there would be losers in #s. When East showed he was void in s and
his shape was 2-3-8-0, you have to win 4 vs in order to discard 3 losers in #s. Then,
which 3 vs should East hold in order that you can win 4 v tricks?  East’s ¥ must be
vKxx or v9xx. For ordinary players, guessing wrong was not strange. However, it
was rare not to play a « at trick 4.

In reality, at trick 4 North played the vA, ruffed a v, played a « to the «K and
discovered that East had no «s, then ruffed a v, the contract could not be made any
more. If a « was played at trick 4, then you had to judge. East held:

& X v?xx ¢ QJT98642 & --

When East bid 5+, did he hold vKxx ore 9xx? If you guessed right, then you can
make the contract.  (If vs was not distributed like this, then 7a could not be made).
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In an article of the February 2013 issue of the magazine Bridge, when a v was played
a table, Dummy ¥Q and won and the Declarer claimed his contract of 7s.

4 F M 2. The 4 hands were:

#14 a AK653
E / Nil v

¢ A3

*«AB6542
a92 aJ4
v9542 vK76
¢ K75 ¢ QJT98642
«QJd87 ® -

aQT87

vAQT83

‘_

«KT93

(5) Round 5 Board 13

#13

N /ALL

aAQJ86 aKT75
vJ76 vK94
¢ A7 ¢JT65
%865 *AQ

Ny The bidding:

W N E S

Pass | 1NT Pass
2¢ Pass 24 Pass
44 Pass | Pass | Pass

BAGHEFR A B, BAMPIRE K, BREAG R, AR, AZT AT,
i — TFTYE, 517, B 63, fhiT 3 ine, 3ine GRS 3R, A 35ka, 2
e, FHT7HTve, v3, vK vA, File, HHTeA, Fie, dbeQ, dbfite, FeK

This declarer did not make his contract. Our bridge friends would sometimes play like
East without making a thorough plan beforehand. The contract should not have gone
down. Let me talk about his play. First lead was the «7. He played 3 rounds of as and
another 2 rounds of «s (ruffed the 3 &), South had 3 as and 2 #s. At trick 7, he
played the v6, followed by v3, ¢ K, v A. South played a ¢, Dummy ¢A, then
another ¢, North ¢Q, and returned and ¢, South ¢K.
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%% 4 5% The remaining 4 cards were:

#13

N /ALL

A 86 o —
vJ7 v94
¢ — o JT
& — & —

ReHeQ, vA I, FH/EN oK, IRUEARM, EEfHE 1 HeQ, Wz, RImT
HURE, i 2 v .

You have already lost 2 tricks to ¢ Q and vA. South now plays the ¢K, if you discard,
you will have to lose to the #Q also. If your ruff, you have to play from Dummy and you
still need to lose 2 more vs.

UL RERL, B TIATIET, ZARAME? MR KRR, Ky, B2,
IOCEE T, o, s Y GREFEREIEH v, Bl €3O FRAANT LB
HEHTR T .

As the card lies, the closed hand has no entry. Is there a problem? His biggest
problem is that he has played v too early. He should have played the ¢ 1st, eliminates
all or partially «, e and s before he plays v (it is better for North and South to play a

v, and the contract can be made) . |think it is not necessary to elaborate on how to
play.
#13 a3
N /ALL v853
+ Q83
«*KJT932
aAQJ8B6 aKT75
vJ76 v K94
¢ A7 ¢+JT65
*865 *AQ
4942
vAQT2
¢+ K942
74

(6) NYp# The bidding; Round 9 Board 2
ARER, ELAMERL, Rl mibE, KREZMOIEEEL, Halaeisa,
REAT BE 2 i
With a long suit, it is better to bid that suit particular when it is a major suit. Too many
examples have evidenced this. It is because only matching can bring in more tricks.
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FIAEBA Y AR 1o, 75 2s, PRaEL, FF:
Partnered opened a natural 1%, West2a. You are North, holding:

#2 o -
E/NS vKQJ83
¢+ QJ85
«AT65
frerny X, 3s, 3v? WHRRM X 5 3a, [FFEEE 3 gkeR, HENY 3wl§? fRA] GERN 1
1] 4w, BCEIRFBAN v EAEnY, BMFER, Ffnste G S, B2 EZmY. 5

A 2 B R

Would you X, 3a or3v? If you X or bid 3a, would Partner bid 3v when he had 3 vs
only. You may lose the best contract of 4¥. Maybe you consider that the bid of 3w is
non-forcing. Even so, if Partner has afitin v, he should raise. Please see the bidding
of the 2 teams:

W N E S
Pass | 1%
24 3v 34 4v
Pass | 4a Pass | 5w
Pass | Pass | Pass

AL Bidding at the other table:

W N E S

Pass | 1%
24 34 X 3NT
Pass | Pass | Pass

4 FPM R the 4 hands are:

#2 LI
E/NS vKQJ83

¢+QJ85

«AT65
aKT8652 aA94
vT65 v72
42 ¢A9763
«*Q8 *J94

aQJ73

vA94

¢ KT

«K732
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FEAES Y 3ai, FFRIMIMAEIIATEE? L & T RAT 1 55, Holaig, HAT 8 k.
Dle Zofhi, A 11 8. AnERARER 13IMP. &Fh, AMEREE % AFREN
£, A—ERH X, 3aiEn.

After North’s bid of 3a, what can South bid with his hand? He has only 1 stopper in
as, after the 1°'lead of a &, he can only have 8 tricks. With v as trump, he can have 11

tricks. The price for not bidding the suit is 13 IMPs. Some experts agree with my view
of bidding with a long suit. This is not necessary to double only. 3a is forcing.

FE—G, WEKEL  Let's see another example of bidding a suit better.

Round 4 Board 14

#14 4 Q986

E/ NIL vJ73
¢+ KQJT64
& -

R <HEE>2a, PHIE2e, BIR, G5E ALm TR
East opened with Precision 24, West responded 2¢. It's yourturn. Please see how
the 2 experts bid.

W N E S
2% Pass
2¢ Dbl 2v Pass
3% Dbl Pass | 4a
Dbl Pass | Pass | Pass

AR 1 RIS, ANRARZE, BRI, FRIEEF 4 5%/ & IR o nTRESRATIE ] o
55 2 YNNG, e AR A PUAEREM . SRR 3.

HAE I E SRS E, b 2, R, mFEAERE, SOR Senfd T
2.

North doubled 1%'.  This was not quite proper, e.g. for this hand if Partner held 4 small
as, your long ¢ suit might not have much use. He doubled again the 2™ time. Did he
consider West to be psyching? The result was down 3. We need to learn from North
of the other table. He bid his suit 1*.  The rest was decided by his Partner. The result

was 5« X down 2.
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w N E S
2% Pass
2¢ 3¢ | Pass Pass
4 Pass | 4w Dbl
5% Pass | Pass Dbl
Pass | Pass | Pass
#14 4Q986
E/ NIL vJ73
¢+ KQJT64
& -
a AK4 aJ7
vT86 vK542
+873 ¢+ 95
«KT87 «AQJ43
aT532
vAQ9
¢ A2
%9652

F=1+ 5 13IMP. This board won 13 IMPs in total.

(7) FlEEE B A

L.

If you have a fit with your partner’s cards, you should not just count the high card points.
You have to re-calculate your number of winning tricks, i.e., with your partner’s suit as
trump, how many tricks you can help him. In general, if you can help with 2 tricks, you
must raise. | hope that we can know this point: not to use HCPs only for bidding.

Round 5 Board 10

ANESR,, EHCHEH AR, B LR AR Rl R, 1
SRR BARRER 2 N AR R I o BRARA B A

E/NS

aA9863
v6532
¢ 97
%95

Ny The bidding:

34

aiE A EA Y




W N E S
Pass | 1e
1w 2v ?

JEH) 20 FoR S HF o LU 20 18 20T UROEH, WUAEERS, HUAT 4 B, JERXANY, A0S
B, oA FE B, 2SR, —wEe PIE 1 UL, (KA 4 50D . RIEZ G
North’s 2w indicated support for ¢, better than a simple raise of 2¢. You are East, if
you count only HCPs, you have only 4 HCP and so you should not bid. If you count
the number of winning tricks, aA can help to win a trick, 2 doubletons, you must be able
to help 1+ trick.. (It is because you have 4 trumps) . You should bid.

#10 a72
E/NS vQ9

¢ KT5432

~«A84
aKQT a#A9863
vAJ874 v6532
¢+ 8 ¢ 97
«*«KQ76 %95

aJ54

vKT

¢+AQJ6

«JT32

TR 4w B, B S B Ry R

You see, 4v is cold. The bidding in the open room was actually:

W N E S
Pass | 1e
1w 2v 3v Pass
4e 5 Pass | Pass
Dbl Pass | Pass | Pass

20 WUIRARAN 3w, [FFEREAY 4@ ANSIHBRE, SR, AR L DO T
o

Down2. If you do not bid 3v, can partner bid 4¢? Don’t just count HCPs, count the
number of winning tricks. The success or failure in bridge depends on the number of
winning tricks.

=K. The bidding in the close room:
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W N E S

Pass | 1e
1w 3e Pass | Pass

Pass

e LA, WA, #12IMP.

3¢ was just make. East’s pass caused the losing the 12 IMPs.

(8) Round 7 Board 5

#5

N/ NS
aQJ52
vJ9743
+ Q83
*9

MEJRBATR, Lo PR 1e, PR, MURAT R, R R AR AT R R, R
FARIEAEAR . WERARANY,  [F BRI 2 Bmidl, MERMIRSS. EFEHE
e, R e i, BB AR R A 1 S pn g

Non-vulnerable versus vulnerable. RHO opened a strong 1&and you are East.
Bidding has risks, particularly when North and South do not have a game and South
holds your suit behind you. If you do not bid, how will your partner know that you have
2 majors? Even though you have only very few HCPs, if partner has a fit with your
major, you will benefit. | recommend showing it at the low level.

The bidding at one table:

W N E S
1% Dbl 2%
44 S5NT Pass | 6w

Pass 7% Pass | Pass
74 Dbl Pass | Pass
Pass

Dbl %78 2 £{t  East’s double indicated 2 major suits.

7ot 7a8ER 7, i 10IMP. Jy gAY, madbn$] 74, HOZR2050 (Liu Jing ),
PEEfER)  (Hou  Xuw), #FHEGEET. HIGAalce, 4R 4 SRR, It 2 #e
Bz, A3 6 B, Wkisy 7e, 1 SRR EA R EE R RS

7% was cold. Though 7a went down 7, 10 IMPs were won. East did not bid at the
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other table and North and South reached 7. East was Liu Jing, West was Hou Xu,
both of them had been national players. East and West had a fit in & in order to have 4
winning tricks. 2 ruffs for &« made the total number of winning tricks to 6. If you defend
7%, you will not even get 1 trick. This is not a question of counting HCPs. !

#5 a A9
N/ NS v-

¢ AKJ9652

«KJ82
aKT864 aQJ52
v8652 vJ9743
T +Q83
%765 *9

073

v AKQT

¢ 74

«AQT43

KEL—15] A similar example:
Round 4 Board 8

#8 aT9

W/ Nil vT2
¢T84
*«KQ8762

TRVHBE M 1e, REZDL, EEREAT 5 0, 2 AR B
The West’s at both tables opened 1«. You are North and have only 5 HCPs. The
North’s on both tables bid:

W N E S
1a 3% 3v 34
4NT | Pass | 5« Dbl
6v Pass | Pass | 64
Dbl Pass | Pass | Pass

PRSI B SRR B 0Y, rA R 6w REST I, H OFRFE«ERRAEL, WY 6aiddt. Rt
A 7e CLEER),

After West's RKC Ask, South judged that 6 could be made. He and his partner had a
perfect match in «, and so he bid 64 to sacrifice. Partner could change to 7« (if
necessary).
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A —5in The bidding at the other table:
W N E S
1% 2% 3v 34
6v Pass | Pass | Pass

B VGI R EF, [FIFER) Swad 5—7 4y, BZAEZMIE, —ANELL, EHAW 6v,
AL VPRI 6w RES T, A,

West at this table bid very well. Partner’s 3v was 5—7 points. The most important thing
was he could bid a suit and they had a fit in that suit. So it was worthwhile to bid 6v.
North and South could not judge whether 6% could be made and so could only pass.

#8 aT9
W/ Nil vT2

¢T84

*«KQ8762
aAQ a753
vA984 vKQJ753
¢+AQJ753 ¢+ 96
%3 %95

aKJ8642

vb6

¢+ K2

«AJT4

T, RIRAEIET, 64T 3, 6wk, A% 10IMP.
In practice, East could not gain entry, 6a4 went down 3 and 6¥ was made. The net
difference was 10 IMPs.

(9) BRI e, Fnl AR, wiEg 2, AZRS B,
You have to give partner a chance to show his strength, particularly when you have a fit.
The number of winning tricks has increased and so you should not stop bid lightly.

Round 9 Board 9

#9 a AK32

N/ EW vJ64
¢+ AQ2
*KQ7

fRdt, B s, [AIFEHE 24, 4] CREME), Fox 8 rLA b, AREGGEE s, [F 4k
AHIECEA B S PrUARATIY INT 1B FMEAZHT (2 3 1), 4y,
iy 3%,  Cf 49R%), 2NT G 4 5ke) #GRGR, A NAHM (GREE &S5RI 3NT.
BRI, A — Y 3NT. FAMEERE ) — 5y e .

You are North and you opened 1, Partner responded 2. If using Precision, it showed
8+ HCPs. You have to give him a chance to bid again. Partner did not know that there
was as fit in «s and so you should not bid 3NT to stop bid. Our bridge friends use
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mostly 2 over 1 and inverted minor. Aresponse of 3%, (have 4 times «) or 2NT (no
4 times «) shows a minimum hand. Some people usually bid (which | consider to
be wrong) 3NT. The level of competition here was high but a table also bid 3NT. Let
us learn the bidding at the other table:

W N E S
1% Pass | 2%
Pass | 2NT Pass | 3NT
Pass 4 Pass | 4e¢
Pass 44 Pass | 6%
Dbl. | Pass | Pass | Pass

2NT 2@, (2R, FJRRrEAT L shEGEND, 4e& E—dm 2NT A2 16—18
kB . 2NTis a forcing, (after 2%, any bid below game is forcing), 4 indicates the
previous 2NT is not a minimum limit of 16 —18.

#9 aAK32
N/ EW vJ64

¢+ AQ2

*KQ7
a754 4986
vAKS87 vT9532
¢T973 ¢+ 86
w12 %984

aQJT

v Q

¢+ KJ54

«AJ653

TORA BEINGE, e A SRS, Affen 64, 15a, I 13 8, HZE 12IMP,
AR EEEaQ, v QJT, sttt SNT &4, 2NT By 3efiktf. ([AELHE:
01, KERIALERA A B E),

It is not necessary for West to double. If South’s w suit is not void/singleton, he would
not possibly bid 6&. On the 1% lead of a &, 13 tricks were won, the net difference was 12
IMPs.

R )AL aQ, v QJT, it fE 3NT 54y, 2NT Zrg0 3e ikhf. CRERMIE,
T3, KA E G KT EESEED

To prevent South’s majors are 4Q and vQJT and the missing the best contract of
3NT, itis better for South to bid 3. (With the same high card points, the position of the
high cards affect the contract greatly.)

Fi&E—l: Let's see another example:
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Round 1 Board 2

#2 4953

E/NS vAKQ7
¢+ K73
«A94

% The bidding:

W N E S
Pass | 1e

18 Dbl 2% 2¢
Pass 24 Pass | 2NT
Pass ?

FIAERA Y, ESHEm, IRZeInfsy, P, SEssmiEny, —aEmB)E. RF, e
HEMH 2e, MOAERERICHR, REOPURE, 2/OE T 5 8, IRIEZLG Ry
B, MY 3e, BiG e Mm@, T EAGE -y & ol g dbny 3NT. 502 6.
W 12IMP,
6o S B .

Partner opened bid, RHO interfered. You doubled and then cuebid to show the
strongest response and must be forcing to game. You see, Partner made a free bid of
2+, his strength should not be at minimum. Your cards are too good and can help
Partner with 5 tricks. You should give a chance for Partner to bid and so you bid 3¢,
showing a strong hand with a fit in ¢s. You should not make any closing bid. It was a
pity that North bid 3NT in reality. The other table reached 6¢ and won 12 IMPs. . 6
was cold.

#2 4953
E/NS vAKQ7

¢+ K73

«A94
aQT872 AaJ6
vJ986 vT3
¢ 4 ¢+ Q95
%873 «KJT652

a AK4

v542

¢AJT862

% Q

MR K ¢ Q, A7 13 8, WHLEH 1 e, RATE & LTI, BE) 12 .

If you finesse East’s ¢Q, you can have 13 tricks. Even if you lose a ¢, you can still
squeeze West in both ¥ and & and obtain 12 tricks.
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(10) AalifEEnd g X —1  Another example of not to bid purely based on HCPs.

Round 2 Board 13

#13 aAKQ7
N/ EW vA6b
¢+ Q987
%132
4J83 aT64
vQT v832
¢+JT583 ¢+ A6
*«AKJ4 «Q9765
4952
vKJ9754
¢+ K42
% 8
% The bidding:
w N E S
INT Pass | 2e
Pass 2v Pass | 3w
Pass 4e Pass | Pass
Pass

JBI INT 22 13— 15 B, PRI AE 2v/8k Pass 1, [i=m 2 £3CF, BHFHA
20—22 B, 1HAT 6 SRk, «FOR, HAFEEE. W 3v , &K 10IMP.

North’s 1NT is 13— 15 HCPs. The South in close room passed after 2v, the South in
open room was Wang Wenfei. They jointly held 20—22 HCPs but with 6 trump cards
and a singleton «, it is worth to invite. He bid 3v and they won 10 IMPs.

(11) Round 2 Board9

#3 AaAJTO983
S/ EW vQ862
+9
«T9

aKQ4
vA5

¢ QT
*«AKQJ76

% The bidding:
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W N E S

1a
Pass 1e Pass | 2NT
Pass 3v Pass | 3a

Pass ?

Ab7E 3atglnny 4o, wAHE SR, ARG 0—7 phirh, Ronfr 59REL Ea, o B
i de, GERIMIMES, —EAT A, (WA AA, DoEHaRe A, AR LEFIIIEG? )
FI e ST 5 S a+6 1a+1 v, WITEILAE SMZN 48, BT 2 9Re, ANHEFNY
i, i 11IMP.

If North would bid 4 ¢ after 3a , it will be rather perfect. With only 0—7 HCPs, it shows
5+ as and a singleton . If North bid 4e, from North’s viewpoint, North must have the
aA, (If without the aA, must have singleton ¢ A, else would there be a need to
cuebid? ) South can count completely 5 tricks in & + 6 tricks in & + 1 trick in . It was
a pity that North bid 4a after 3s, South had 2 possible ¢ losers and could not bid again.
They lost 11 IMPs.

#3 AaAJTO983
S/ EW vQ862

*9

«T9
a75 62
vKT9743 v
¢+J532 ¢+ AK8764
% 8 %5432

aKQ4

vA5

¢ QT

*AKQJ76

(12) CHifEY )16 E, A weakness of Precision

#4

W/ All
aKTS8
vJT8752
¢+ J94
*» 2

PRI S 14, EK 3w, WiGEsr, IRIIEET b 21 50, IRIERZE IR ), A7
[ Fd e R EE 8 43 LA b, BRI AT Dbl Fl Pass Y&, TILAE 4> 0-4 Fll 5-7 5,

Partner opened strong 14, RHO 3&, if you talk about HCPs, you jointly have at least
21 HCPs. You should show that you jointly have strength. Some agreed that one
have to bid with 8+ points. You still have the calls Dbl and Pass available to distinguish
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between the ranges of 0-4 and 5-7.

IR E: The actual bidding was:

W N E S
1% 3% Pass | 4«
Pass | 5 Pass | Pass

Pass

PEFFAEEERE, REG I 2, SR KIIE fh X RS AE DR A ?

Everyone can tell West holds the great number of points, his suit and where his points
are.

82 WmEAE 4 FEE, a8, SR AR AT, fhK) 46 23T ARG TS
gAY

The suit has to be bid at the 4" level in the 2™ round. West has the &, or he considers
that as partner has not bid, his 44 cannot be made and so he still does not bid his suit.

#4 a62
W/ All v-

¢+ AQT2

«AT98653
aAQJI975 aKT8
vK96 vJT8752
¢+ K3 ¢+ J94
«*QJ ® 2

443

vAQ43

¢+8765

«K74

KET e, Pelif. REtaPIISEmnG?  (BRE S adh, #RAD.

East firstled a v, 5% was made. Can you criticise his lead? (With the exception of a
& lead, the contract can be made.)

FELE  The bidding at the other table:

W N E S
1% 2% Dbl Rdbl
24 2NT 3a Pass
Pass | 4« 4e Dbl
4a Dbl Pass | Pass
Pass

43



el 28 BHEE I EEA R, WAMERREG —el ), EIEnGHIEREs, BAwny
455 50T, §% Dbl (Rdbl) £AA ), e BRI G . MR 8—10 45 4441
R, WUREENY 4, VEEIY 4052 W EENY 5a, PHEIARES? ARE 4 HEEN Dbl
—fENY e HIRIEAEIRT %, FMEAERIVGET, AGEET, Ll 46l F— B 11IMP,

The pre-emptive power of North’s 2& was not enough. East had the chance to show he
had some strength. South’s redouble only indicated his strength. It was better for him
to bid 4% or 54, saving Dbl,(Rdbl) to show strength and no fit in « . The typical hand
was 8 —10 points and 4441 shape. If South bid 4%, would West bid 4a? |If South bid
5, what would West bid? Double is not the only bid to when you have strength. As
North would not underlead from his & suit, South cannot gain entry before the declarer
has drawn trumps. So 44 only went down 1. They won 11 IMPs.

WAERMRZ AT (2 1), WAHHME RS,

Now, most of us use 2 over 1. There were also some examples of difficult bidding.

Round 8 Board 2

#2

E/NS

AaA75 a3
vAKQT62 v974

¢ K3 ¢AJT542
*74 «AJ8

WAEVESEEIY 1w, 5K Pass , fR2 & 1 IBAKAE! /R INT, Vhlk3v, 2AZ
IR LLe Zfehil 2 AR 40 J2 AR EAFE » R, EAMRL AL, 8
WU ROEE M, BAE =T Chfik) nu Rt

If West opens 1v, RHO passes, are you strong enough to bid 2 over 1?  You bid
1NT, West jumps to 3v, whether you agree to use v astrump? If you respond 4 ¢,
does it indicate you agree v as trump? For this board, it was East who opened bid.
Let us see how the experts used Precision to bid.

W N E S

1e Pass
1w 14 Dbl Pass
24 Pass | 3e Pass
3a Pass | 4e Pass
44 Pass | 5« Pass
6v Pass | Pass | Pass

St Dbl %75 3 Bhw S, DIAERBIMNIL B, HERE o B8, HoA, #AHT LU
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K Bl (HPY— EHAR R e Ty, 2Nl

East’s Dbl indicates 3 times v support.

slam if East has a long ¢ suit,
and is satisfied with a small slam.

=M% Bidding in the close room:

Upon East’s opening bid, West can try a grand
+A, «A. However West just waits for East to cuebid

W N E S
Pass | Pass
1% 14 2¢ | Pass
2v Pass 3a | Pass
4e Pass | 4NT | Pass
5¢ Pass 54 | Pass
7v Pass | Pass | Pass

AR, RS, 1Y 5 e R T B OR O 4.
East has not opened bid but he asked for keycards 1. The bidding of 54 indicated that
they jointly held all the keycards.

#2
E/ NS
aA75

¢ K3
%74

vAKQT®62

aKQT98

v 8
¢+ Q6

«*«KT632

aJ642

vJ53
¢987
Q95

a3

v974
¢AJT542
«AJ8

Hole2, RIES, HRIERL, «QEH 2 kK. 7vITHG
First lead was the %2, nearly killing. The declarer had good luck, ¢Q dropped on the

2" 4 and 7v was made.

(13) HAE5 2 HIBG PR Finally, let us see 2 more examples:

Round 6 Board 8
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#8

W/ Nil
a64
vAJS83
¢T9874
«A5

=144 Bidding in the open room:

W N E S
2% 2¢ Pass | 24
Pass 3a Dbl Pass
4e Pass | Pass | 4a
Dbl Pass | Pass | Pass

Hile6 , WTw7, fRHME—oR? WARATEME, JEWTH, RaTUAT A, Hes
Rl FEMVE 12T, SR, [RIAEERSY 4 5Rke » B 9RUA Eae FRJIRAGER
RN RERZA 10 9%, v15&, o B 25k, R CUGL 2 B, vA FllsA, BEARK
THRHE A & Ko o A FIFEEATIE 3 RPN 2 5% A REBEG A, FHARAR, 7EvQo642
Wk 4 SRAHG 2 v6?

First lead was the ¥6, Dummy 7. Which card will you play? If you have not
listened to the bidding and just see the Dummy’s cards, it appears to be better for you
to play v8 instead of vA. Before you play the 1% trick, you have to recall the bidding.
Partner should have 4 vs and 5+ «s with lower limit in strength. Declarer should have
10 black cards, 1time v, and 2 times ¢. You can win 2 tricks: vAand «A. The
unseen useful high cards are aA, & Kand ¢A. Partners need to have 2 out of these
3 high cards in order to defeat the contract. Then you need to think the from which 4 vs
out of the combination vQ9642 that Partner would lead the v67?

#8 4Q93
W/ Nil vKT75
¢+ KQ632
*3
a64
vAJ83
¢T9874
«*A5

PrURE e A, 55 2 e A, R e, FTHRFRECR 1 i wdo JHES 0 2 1e, 1 s,

SEMEE
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So East should place the vA then the «A and then a ¢. In practice, East played the vJ
at Trick 1. Declarer only lost 2 tricks in &, 1 trick in & and make the contract.

#8 4Q93
W/ Nil vKT75

¢+ KQ632

® 3
a AK a64
v9642 vAJ83
*J ¢+T9874
«KJT872 A5

aJT8752

v Q

¢ A5

«*Q964

i eA, ¥ 6IMP, BifEthe J B 10IMP. ¢ BIF1e K Flv 10 ifLL#A 1 5k, 15
W5 BB %, 122 16IMP.

If East had played the vA, his team would win 6 IMPs. As he had played thev J
instead, his team lost 10 IMPs for this board. (Dummy’s ¥ Kand v 10 could discard

1 & losers) . The inadequate consideration for one card means a difference of 16
IMPs.

w1 14, #r/2dt  Inthe last example, you are North.

#6 aJ6

E/EW vT872
¢+Q974
«T94

% The bidding:

W N E S
Pass | 1e
Pass Pass | Dbl Pass

2NT Pass | 3NT Pass
Pass Pass

RE5 4, & RLYTHIM

You 1% lead the ¢4 and saw the Dummy'’s cards:
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#6 aJ6

E/ EW vT872
¢+ Q974
«T94
aQ8743
vQJ3
* A
«Q753

F2HWMMHFHe 3, a6, «J, FRIEH—5R?
Played Dummy’s « 3 at Trick 2, followed by « 6 and « J, Which card will you follow?

WM FE 4 F M. Let us see the 4 hands:

#6 aJ6
E/ EW vT872

¢+ Q974

«T94
aKT aQ8743
vK54 vQJ3
¢+ KT32 * A
«AJ82 «Q753

aA952

vA96

¢+J865

% K6

T, 1 E200dk, Red, HXREARNsEeK, &T, «9, ME—e, LK E
FKIEwK6, VRA BT, (FREL 2 e, 2 {f A, AfEle 7). 553, 4 A FsQ,

In practice, a North followed with the «4. The &s that declarer could not see were %K,
T and 9. The only chance for him to make is for South to hold the «K and «K6 (you
have to lose 2 tricks in ¢, 2 Aces and cannot afford to lose a ). The declarer played at
tricks 3 and 4 the«A and «Q respectively.
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#6 aJ6
E/ EW vT872

¢+ Q97

o —
aKT aQ8743
vK54 vQJ3
¢ KT3 ¢ —
%8 &7

aA95

vA96

¢+J85

o —

H5Hte, HaKER, Hile, CKH M T

At trick 5, Declarer played a 4 and when the aK won, he played a v again. He has
already got 9 tricks.

F—, AEE 2 BURe9, EHEFEAR, bR« LUE %109 2ie 1094 S 5 AT IE SN 1B
o, TR, EAOIERAEDR L« fEUTHHeQ, A ILRF 2 9k«109, (HFHELHIE,
AR 1.

At the other table, North followed with the «9 at Trick 2. From the declarer’s viewpoint,
North’s &s can be from «109 or £1094. It gives the declarer a chance to choose
wrongly. In practice, this declarer played the «Q from Dummy, hoping that North
would hold held doubleton £109. However, it was against his wish and the contract
went down 1.

M ER2RL9 MIER, MR 2 R

We have to learn from the North who followed with the %9, to give the declarer a
chance to commit a mistake.
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Schedule Apr - May 2013

ue Invitational Team (11)

15 MonNo event

16 [Tue Open Mixed Pairs

23 Tue Paul Jones Pairs (6-6)

30 Tue [Invitational Team (12)

Mariner Main

Kelvin Yim
Hall

---TBC ---

Mariner
Ben Lam
Conference Room

Mariner Main

Kelvin Yim
Hall

5 SunOpen League: Final

14 TuelAndre Quan Pairs (2)

21 [(TueNo event

25 (Sat Open team of Six S.2 & 3
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